WILLIAMSON COUNTY, TEXAS

CHANGE ORDER NUMBER: ____2

						Contract Award Date:	7/30/2024
				NTP Required	:		
Contractor:	Сар	ital Excavation		ı ıYes ☑ N		Project Number:	24IFB59
Project Name:	East	: Wilco Highway Segm	ent 2 Phase	1	- MANAGAMA	Funding Source:	P392
Change Order Wo	rk Limits: Sta.	1196+26.33 to St	a. 1442+0	9.31		Roadway:	East Wilco Hwy
Type of Change(or	n federal-aid non-exen	npt projects):	Minor (N	ajor/Minor)		CSJ Number:	N/A
Reasons:	4D	(3 Max In order	of importance	Primary first)			***************************************
Describe the work 4D. Third Party Acc to the contract, and a shown in the bid set.	omodation. Other. T	his Change Order officially ect the line being installed	issues the "Fo in the existing	or Construction" pl Jonah easement i	an set for the Jo nstead of in Wi	onah Water Line liamson County'	"B", adds new items s ROW which was
Work to be perforn	ned in accordance v	vith Items:	e attached				
New or revised pla	n sheet(s) are attac	hed and numbered:	Co	over Page, G1, h	(1, 6, D1-D5		
New Special Provis	sions/Specifications	to the contract are attac	ched:		Yes	☑ No	
New Special Provis	sions to Item <u>N/A</u> N	o. N/A. Special Specifi	cation Item N	/A are attached.			
Each signatory her	eby warrants that ea	ach has the authority to	execute this	Change Order (C	O).		
and all claims for addition	al compensation due to an e, overhead and profit; or l	doing so, agrees to waive any y and all other expenses; loss of compensation as a result	Time Ext.		!	ion must be p	
By A	10=NP1		Original Cor	tract Amount:	\$	64,407,606.63	
Typed/Printed Na	mo	DE CHECHTY	Total Chang	e Orders To-Date:		-\$220,747.54	
Typed/Printed Titl		10	Percent Cha	nge in Original Co	ntract:	-0.34%	/o
alan	FOR EXECUTION: Construction Engine	5/6/2025 er Date	RE		rtment of Infra Williamson Co	astructure	5/13/2025 Date
Christen	Schler ogram Manager	5/12/2025 Date	AF	PROVED:	C //		
	N/A		<u></u>	Steven	0.1000	:.1c CDT\	
210	Party Signature	Data	St	even Snell (Ma	y 23, 2025 15 esiding Office	,	Data
310	a rang Signature	Date				r of the hissioners Cou	Date rt

WILLIAMSON COUNTY, TEXAS

CHANGE ORDER NUMBER:	2	Project #	24IFB59
-			

TABLE A: Force Account Work and Materials Placed into Stock

LABOR	HOURLY RATE		HOURLY RATE	

TABLE B: Contract Items:

			ORIGINAL + PREVIOUSLY REVISED		ADD or (DEDUCT)	NEW			
ITEM	DESCRIPTION	UNIT	UNIT PRICE	QUANTITY	ITEM COST	QUANTITY	QUANTITY	ITEM COST	OVERRUN/ UNDERRUN
J109-1	4" C900 DR-18 PVC PIPE AND FITTINGS; W/ TRACER WIRE; INSTALLED	LF	\$52.20	1,526.00	\$79,657.20	(360.00)	1,166.00	\$60,865.20	(\$18,792.00)
J109-2	4" RESTRAINED JOINT C900 DR-18 PVC PIPE AND FITTINGS; W/ TRACER WIRE; INSTALLED	LF	\$88.90	125.00	\$11,112.50	44.00	169.00	\$15,024.10	\$3,911.60
J109-3	8" STEEL ENC. PIPE, BORED; W/ 4" RESTRAINED JOINT C900 DR-18 PVC PIPE: INSTALLED	LF	\$640.00	118.00	\$75,520.00	(118.00)	0.00	\$0.00	(\$75,520.00)
J109-4	8" STEEL ENC. PIPE, OPEN CUT; W/ 4" RESTRAINED JOINT C900 DR-18 PVC PIPE: INSTALLED	LF	\$99.00	1,193.00	\$118,107.00	249.00	1,442.00	\$142,758.00	\$24,651.00
J109-8	48" STEEL ENC. PIPE, OPEN CUT: INSTALLED	LF	\$690.00	355.00	\$244,950.00	(355.00)	0.00	\$0.00	(\$244,950.00)
J109-9	4" GATE VALVE, BOX AND MARKER; INSTALLED	LF	\$2,230.00	12.00	\$26,760.00	(4.00)	8.00	\$17,840.00	(\$8,920.00)
J109-13	CONNECT NEW 4" TO EXISTING 2.5"; INSTALLED	EA	\$2,490.00	4.00	\$9,960.00	(3.00)	1.00	\$2,490.00	(\$7,470.00)
J109-15	CONNECT NEW 2.5" TO EXISTING 2.5"; INSTALLED	EA	\$2,240.00	1.00	\$2,240.00	2.00	3.00	\$6,720.00	\$4,480.00
J109-18	TRENCH SAFETY SYSTEM DESIGN AND IMPLEMENTATION	LF	\$5.55	3,217.00	\$17,854.35	(415.00)	2,802.00	\$15,551.10	(\$2,303.25)
J109-22	2.5" HDPE SDR9 RESTRAINED JOINT PIPE AND FITTINGS; W/ TRACER WIRE; INSTALLED	LF	\$184.00	0.00	\$0.00	7.00	7.00	\$1,288.00	\$1,288.00
J109-23	4" PLUG; INSTALLED	EA	\$645.00	0.00	\$0.00	2.00	2.00	\$1,290.00	\$1,290.00
J109-24	REMOVE EXISTING METER; COMPLETE	EA	\$1,919.00	0.00	\$0.00	1.00	1.00	\$1,919.00	\$1,919.00
J109-25	TEMPORARY 4" WATERLINE	LF	\$78.00	0.00	\$0.00	750.00	750.00	\$58,500.00	\$58,500.00
	TOTALS	L	<u> </u>		\$586,161.05			\$324,245.40	(\$261,915.65)

Williamson County Road Bond Program

East Wilco Highway Segment 1 Phase 1 Williamson County Project No. 24IFB59

Change Order No. 2

Reason for Change

This Change Order officially issues the "For Construction" plan set for the Jonah Water Line "B" relocation. New items will be added to the Contract and quantities are being adjusted. This will reflect the water line being installed in the existing Jonah easement instead of in Williamson County's ROW, as shown in the bid set.

Following is a summary of new items required for this Change Order.

ITEM	DESCRIPTION	QTY	UNIT
J109-22	2.5" HDPE SDR9 RESTRAINED JOINT PIPE AND FITTINGS; W/ TRACER WIRE; INSTALLED	7	LF
J109-23	4" PLUG; INSTALLED	2	EA
J109-24	REMOVE EXISTING METER; COMPLETE	1	EA
J109-25	TEMPORARY 4" WATERLINE	750	LF

This Change Order results in a net decrease of \$261,915.65 to the Contract amount, for an adjusted Contract total of \$64,186,859.09. The original Contract amount was \$64,407,606.63. As a result of this and all Change Orders to-date, \$220,747.54 has been deducted from the Contract, resulting in an 0.34% net decrease in the Contract cost. No additional days will be added to the Contract as a result of this Change Order.

HNTB Corporation

Oscar Salazar-Bueno, P.E.

Change Order Worksheet

Contract Name East Wilco Hwy Seg 2 Ph 1 Solicitation # 24IFB59

Date awarded 7/30/2024

Awarded Contract Amount \$64,407,606.63

Change order #1 \$41,168.11 0.06% Change order #2 (\$261,915.65) -0.41%

Total changes to date (\$220,747.54) -0.34% (Running totals here)

Adjusted contract amount \$64,186,859.09

Percentage Change

CHANGE ORDER REASON(S) CODE CHART

Design Error or Omission	1A. Incorrect PS&E 1B. Other
Differing Site Conditions (unforeseeable)	2A. Dispute resolution (expense caused by conditions and/or resulting delay) 2B. Unavailable material 2C. New development (conditions changing after PS&E completed) 2D. Environmental remediation 2E. Miscellaneous difference in site conditions (unforeseeable)(Item 9) 2F. Site conditions altered by an act of nature 2G. Unadjusted utility (unforeseeable) 2H. Unacquired Right-of-Way (unforeseeable) 2I. Additional safety needs (unforeseeable) 2J. Other
3. County Convenience	3A. Dispute resolution (not resulting from error in plans or differing site conditions) 3B. Public relations improvement 3C. Implementation of a Value Engineering finding 3D. Achievement of an early project completion 3E. Reduction of future maintenance 3F. Additional work desired by the County 3G. Compliance requirements of new laws and/or policies 3H. Cost savings opportunity discovered during construction 3I. Implementation of improved technology or better process 3J. Price adjustment on finished work (price reduced in exchange for acceptance) 3K. Addition of stock account or material supplied by state provision 3L. Revising safety work/measures desired by the County 3M. Other
4. Third Party Accommodation	 4A. Failure of a third party to meet commitment 4B. Third party requested work 4C. Compliance requirements of new laws and/or policies (impacting third party) 4D. Other
5. Contractor Convenience	 5A. Contractor exercises option to change the traffic control plan 5B. Contractor requested change in the sequence and/or method of work 5C. Payment for Partnering workshop 5D. Additional safety work/measures desired by the contractor 5E. Other
6. Untimely ROW/Utilities	 6A. Right-of-Way not clear (third party responsibility for ROW) 6B. Right-of-Way not clear (County responsibility for ROW) 6C. Utilities not clear 6D. Other



PO Box 1301 Austin, TX 78767

Email: Estimating@CapitalExcavation.com

Change Request # 10

Date: 2/14/2025

QuoteTo:

Project: EAST WILCO WAY SEC 2 PH 1 (1072)

Capital Project #: 1072

Description: Revised Jonah Water Line B

Item	Description	Quantity	Unit	Unit Price	Amount
J109-1	4" C900 DR-18 PVC PIPE AND FITTINGS; W/	-360.00	LF	52.20	-18,792.00
J109-2	4" RESTRAINED JOINT C900 DR-18 PVC PIPE AND	44.00	LF	88.90	3,911.60
J109-3	8" STEEL ENC. PIPE, BORED; W/ 4" RESTRAINED	-118.00	LF	640.00	-75,520.00
J109-4	8" STEEL ENC. PIPE, OPEN CUT; W/ 4"	249.00	LF	99.00	24,651.00
J109-8	48" STEEL ENC. PIPE, OPEN CUT: INSTALLED	-355.00	LF	690.00	-244,950.00
J109-9	4" GATE VALVE, BOX AND MARKER; INSTALLED	-4.00	EA	2,230.00	-8,920.00
J109-13	CONNECT NEW 4" TO EXISTING 2.5"; INSTALLED	-3.00	EA	2,490.00	-7,470.00
J109-15	CONNECT NEW 2.5" TO EXISTING 2.5"; INSTALLED	2.00	EA	2,240.00	4,480.00
J109-18	TRENCH SAFETY SYSTEM DESIGN AND	-415.00	LF	5.55	-2,303.25
СО	2.5" HDPE SDR9 Restrained Joint Pipe	7.00	LF	184.00	1,288.00
СО	4" PLUG; INSTALLED	2.00	EA	645.00	1,290.00
СО	REMOVE EXISTING METER	1.00	EA	1,919.00	1,919.00
СО	TEMPORARY 4" WATERLINE	750.00	LF	78.00	58,500.00

GRAND TOTAL -261,915.65

Scope: Pricing to adjust the existing contract items and new pricing for added items associated with the Jonah waterline B revisions.

Capital Excavation Requests an additional : day(s)